SET COLLAR

LEHRIICKD Y+ T MMCEE L THBEVWEREIFTE T,
30" HEO AIDHMETIE NP YV ITODRRZERERA DT EHTEXT,

fﬁﬁ’ ”‘
1'"".’); ‘e J
N

: N
=ffivax—hXAyF BEMR_— o TI Ay X T TOLA Y ¥

wﬂg N
é‘"\\v ‘_f o § p v
SUS304 TIVZ #ifs/POM (B &)
MERES ME  RENIE 1B & JESZHI
c S45C /2% AARMIEDZY KIEHE BLn)2
% /%% _Lﬁiﬁ Ti(( % Bo) 2K
U $% S45C  =ffiyOx—bxyF | RARMIEDHZY ((IEH5%E SUSXMT7) 24K SC 0305
(] $% S45C EBR=—y I Av¥ | RARMIEDZY ((IEH5% SUSXMT7) 27K
N | S45C o/ MOb % | AARAIEDZY (KIEaSE SUSXM7)24  PIEE3mm. HE5mm, 238
'S 27 LZ SUS304 ARENIEHET (A% SUSXMT) 27K
A TV A2017 ANENFIEHRY KIEAE SUSXMT7) 274K
X #igE POM(E®&) AARMIEHZY ((IEHSE SUSXMT7) 274
L+0.1 o
s B4 0 mm
2-M (120°)
— *
o - 0
38t T AT
S EE R
L A8l POM(E1) k<
it (F)
AR | R | MR | R GERD % . —f | EEE =y s0 POM
¢B L ¢D | ¢D, M [:#E5R=e =E20)) M-tk | ZghhAy% | 70AA % SUS304 | A2017 (ae)
(] U L] N sl Al X
5 7| — [*xM3x3| SC0305]] 100 — 200 — 240 — —
3 6 7| — [*xM3x3| SC 0306[] 100 — 200 — 240 150 —
6 | 10| — [%M3x3| SC 0306[ — — — — — — 170
8 7 — [*xM3x3][ SC0308[] 100 — 200 - 240 — —
5 8| — [*xM3x3| SC 0405[] 120 — 220 — 240 — —
4 6 | 12| — [%M4x4| SC 0406[] 120 — 220 - 240 160 -
6 | 12| — [%M3x3| SC 0406[ — — — — — — 170
8 | 12| — [%M4x4| SC 0408[] 120 170 220 190 240 — —
5 | 11| — [%M3x3| SC 0505[] 140 — 240 — 270 — —
5 6 | 14| — [*M4x4| SC 0506[ 140 — 240 — 270 160 —
8 | 14| — |[%M4x4| SC 0508[ ] 140 180 240 200 270 — 170
10 | 14| — [kM4x4| SC0510[] 140 — 240 = 270 = =
5 | 12| — |[M3x3| SC 0605 ] 140 — 260 — 270 — —
6 6 | 15| — [*kM4x4| SC 0606[ ] 140 - 260 - 270 160 —
8 | 15| — |[%M4x4| SC 0608[ ] 140 — 260 — 270 — 200
10 | 16 | — [*kM4x4| SC0610[] 140 200 | 260 220 270 — —

KENG DRI —ARELNET,



=-1=]: -t 5§l RoHS
2o R[5 2N 105

4% (M)
NE | 1R | AR | ERE | BT eSS - = WEEE | = AL
o8 | L | oD |oD,| M | Chmmmes | |0 BEH 0T susa | seorr | 0
] (1] N S A
5| 14| — |M3x3| SC 0805[] 160 | — 200 | — 300 | — —
6 | 16| 13 |M4x4| SC 0806L] 160 | — 200 | — 300 | 180 | —
8 8 | 16 | 13 |M4x4| SC 0808 160 | — 200 | — 300 | — —
8 | 18| — |M4x4| SC0808[] - — - - - - 220
10 | 18| 13 |M4x4| SC0810[] 160 | 220 | 290 | 240 | 300 | — —
5| 16| — |[M3x3| SC1005[] 160 | — 200 | — 300 | — =
6 | 18| 16 |M4x4| SC 1006[] 160 | — 200 | — 300 | 220 | —
10 8 | 18| 16 |M4x4| SC 1008[] 160 | — 200 | — 300 | — -
8 | 20| — |Max4| SC1008[] — — — - — — 260
10 | 20| 16 | M4x4 | SC1010[] 160 | 220 | 290 | 240 | 300 | — =
6 | 20| — |M4x4| SC1106L] 180 | — 340 | — 350 | — - &
" 8 | 22| 20 |M4x4| SC1108]] 180 | — 340 | — 350 | — - &
10 | 26 | 20 | M5x6| SC1110[] 180 | — 340 | — 350 | — - &
12 | 26 | 20 | M6x6| SC1112[] 180 | — 340 | — 350 | — - &
6 | 20| — |M4x4| SC1206[] 180 | — 340 | — 350 | — —
8 | 22 | 20 |M4x4| SC1208[] 180 | — 340 | — 350 | 270 | —
12 8 | 22| — |M4x4| SC1208[] — — — — — — 260
10 | 26 | 20 | M5x6| SC 1210[] 180 | 280 | 340 | 310 | 350 | — =
12 | 26| 20 |M6x6| SC1212[] 180 | — 340 | — 350 | — —
6 | 20| — |Max4| SC12.7-06[] 200 | — 350 | — 360 | — =
1oy 8| 22| — |M4x4| SC12.7-08_ 200 | — 350 | — 360 | — —
10 | 26 | 20 [M5%x6| SC12.7-10[] 200 | — 350 | — 360 | — -
12 | 26 | 20 | M6x6| SC12.7-12[] 200 | — 350 | — 360 | — —
6 | 20| — |[M4x4| SC1306[] 200 | — 350 | — 360 | — =
13 8 | 22 | 20 |M4x4| SC 1308[] 200 | — 350 | — 360 | 280 | —
10 | 26 | 20 | M5x6| SC 1310[] 200 | 280 | 350 | 330 | 360 | — -
6 | 20| — |M4x3| SC 1406[] 230 | — 410 | — 420 | — - &
14 8 | 22| 20 |M4x4| SC 1408 230 | — 410 | — 420 | — - &
10 | 26 | 20 | M5x6 | SC 1410 230 | — 410 | — 420 | — - &
12 | 26 | 20 | M5x6| SC 1412[] 230 | 310 | 410 | 330 | 420 | — —
6 | 24| — |M4ax4| SC1506[] 230 | — 410 | — 420 | — —
8 | 25| 24 |M5x6| SC 1508[] 230 | — 410 | — 420 | 310 | —
15 | 10 | 25| 24 |M5x6| SC 1510 230 | — 410 | — 420 | — —
10 | 28| — |M5x6| SC1510[] - - — - - - 350
12 | 28 | 24 |M5%6| SC1512[] 230 | 330 | 410 | 390 | 420 | — —
6 | 24| — |M4x4| SC1606[] 240 | — 430 | — 440 | — —
8 | 28| 24 |M5x6] SC1608[] 240 | — 430 | — 440 | — —
16 | 10 | 28| 24 |M5x6| SC1610[] 240 | — 430 | — 440 | 320 | —
10 | 30 | — |M5x6| SC1610[] — — — — — — 390
12 | 28 | 24 |[M5x6| SC1612[] 240 | 330 | 430 | 390 | 440 | — —
;7 |10 | 30| 26| M6x6| SC17100 280 | — 480 | — 500 | — —
12 | 32| 26| M6x6| SC1712[] 280 | 330 | 480 | 390 | 500 | — =
18 | 15 | 32| 29 | M6x6| SC 1815 280 | 350 | 500 | 420 | 530 | — —
19 | 15 | 32| 29 | M6x6| SC1915[] 280 | — 520 | — 530 | — - &
7 | 30| — |M5x6| SC2007[] 280 | — 520 | — 530 | — —
10 | 32| 29 |[M6x6| SC2010[] 280 | — 520 | — 530 | 350 | —
20 [ 12 | 32| 29 | M6x6| SC 2012[] 280 | — 520 | — 530 | — —
12 | 34| — | M6x6| SC2012[] - - - - - - 420
15 | 32 | 29 | M6x6| SC 2015[] 280 | 350 | 520 | 440 | 530 | — —
22 | 18 | 38| 34 |M8x8| SC2218[] 360 | 420 | 600 | 500 | 660 | — =
24 | 18 | 42| 38 | M8x8| SC 2418 360 | — 670 | — 820 | — - &
12 | 38| 37 | M6x6| SC 2512[] 360 | — 670 | — 820 | 530 | —
o5 |12 | 38| — [M6x6| SC 2512 — — — — — — 500
15 | 38| 37 | M6X6| SC 2515[ 360 | — 670 | — 820 | — -
18 | 42 | 38 | M8x8| SC 2518 360 | 470 | 670 | 550 | 820 | — —
12 | 38| — |M6x6| SC25.4-12[] 420 | — 770 | — 880 | — —
254 [ 15 | 38| — |M6x6| SC 25.4-15[] 420 | — 770 | — 880 | — —
18 | 42| 38 |M8x8| SC25.4-18[] 420 | — 770 | — 880 | — —
28 | 18 | 45| 40 | M8x8 | SC 2818[] 420 | — 770 | — 880 | — —
12 | 45| — | M6x6| SC3012[] - - - - - — 600
14 | 45| 42 |M8x8| SC3014[] 420 | — 820 | — 930 | 540 | —
30 [ 16 | 45| 42 [M8x8| SC 3016[] 420 | — 820 | — 930 | — -
18 | 49 | 42 |M8x8| SC 3018[] 420 | — 820 | — 930 | — —
20 | 49 | 42 | M8x8| _SC 3020[] 420 | 600 | 820 | 710 | 930 | — =




1= I ROHS
2o R[5 2 105

it (F3)
WE | 1B | SE | ERE | BT E : ErERT s E—
B | L | D | oD, | M O:mERS | FRO 7ux-Ew :'vﬁf; 7u1?ﬁ e 2017 <Fr;|og>

u (1] N s I X
32 20 53 44 | M8X 8 SC 3220 ] 530 — 930 — 1,200 — —
15 50 47 | M8X8 SC 3515 ] 530 — 990 — 1,370 820 —
35 18 55 47 | M8X 8 SC 3518 ] 530 — 990 — 1,370 — —
20 59 47 | M8X8 SC 3520[ ] 530 820 990 930 | 1,370 — —
38 22 64 50 |M10Xx12 SC 3822[ ] 900 — 1,200 — 1,750 — —
40 18 60 55 |M10X8 SC 4018; 900 — 1,260 — 1,910 | 1,150 —
22 72 55 |M10x12 SC 4022[ ] 900 | 1,150 | 1,260 | 1,200 | 1,910 — —
42 22 75 60 |M10Xx12 SC 4222 ] 990 = 1,420 = 2,180 = =
45 22 75 60 |M10X12 SC 4522 ] 990 — 1,420 — 2,180 — —
48 25 79 65 |M10X12 SC 4825[ | 1,020 — 1,530 — 2,290 — —
50 20 70 65 |M10X8 SC 5020; 1,020 — 1,530 — 2,290 | 1,370 —
25 79 65 |M10Xx12 SC 5025[ ] 1,020 — 1,530 — 2,290 — —
55 28 81 70 |M12X12 SC 5528 | 1,590 - — — 3,710 — —
60 28 88 75 |[M12Xx12 SC 6028/ | 1,750 — — — 4,470 — —
65 28 94 85 |M12x12 SC 6528 | 2,290 — — — — — —
70 32 113 90 |M16X16 SC 7032 ] 3,380 — — — — — —
75 32 119 95 |M16X16 SC 7532[ ] 4,260 - - - — — —
80 32 126 | 105 |[M16X16 SC 8032 | 4,580 — — — — — —




